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HW 3 - 1: Answers

1. x=10,y=-29 5. He needs 24 ml of
_ _ 5% solution & 16 ml of
2. x=4,y=3 30% solution.
3. x=1,y=2,2=4 6. The mixture should
4. x=2,y=4,72=3 contain 30 Ibs of
expensive beans and

20 Ibs of cheaper beans.
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Solve the following systems. Show all work on a separate sheet of paper.

1, (lzx' +y= -9:{—%} 2. (3)( +y= 15}[{-2}
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3 xey=3 9 K= 3y
Y+Z:6
x+z=5h
\f'-tz = (p

2.y + 75
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4, x=2(y-2) ““5)}("2}“22’3
2z=3(y-x) TF 3y -3
Xx+z=2y-3 .

3X-3yti¢ =0
-3X+0y -82= 1
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A chemist needs to make 40 ml of a 15% acid solution. He has a 5% acid solution and

5.
a 30% acid solution on hand. If he uses the 5% and 30% solutions to create the 15%

i@

LET " solution, how many milliliters of each will he need?
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6. A store sells two different fypes of coffee beans; the more expensive one sells for $8
per pound, and the cheaper one sells for $4 per pound. The beans are mixed to provide
a mixture of 50 pounds that sells for $6.40 per pound. How much of each type of
coffee bean should be used to create 50 pounds of the mixture?

Let
¥=‘Exp5ﬂ3hn:b£an$

y: Cheaper beans

‘Hﬁﬁﬁhﬁﬁfaﬁmﬁd
R contain 30 1bs ot
L= 8 AV A . , :
H00-4y +’? 5;3 expensive beans and

) {_Y ) 90 1bs of cheaper
bears.
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With your group, solve the following systems of equations

1. O2x+y-z=8 X=4
@y +z=4 y=2
Dx-y=2 z2=2
O X + Ay = 3. = WA=
@ x-y =a S5 Ax-Ay=Yy
“y=16

@ 1Y4=2- @ atz=4
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2.Hx-3y+3z=-4 x=H
(P2x+3y-2z=15 y=1
4x - 3y-z=1
(3)4x-3y-2=19 I
O 3« Yz =(| Fs) A= = 5-34+3¢2) =
A bx -az =34 \S Y2z =\ 3y =9

2z =-4

Ix=%5 5 =Y -3y =73
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3. x= 3(y Z) = w= 34/ D% %@X'BS +32z =0
y=5(z-x) = \3 ~S% ESx +y -52 =0
—>3) X +Yy-T = <

><+y-z+4f‘
3 **3 @5?;)%5-5%:0
3@5\( %_52-_:——/5_
L'tx /3 & 2+y-z=4
y-2=
\ 2 =-15
- 2= -
ot :
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4.  Youbought breakfast at the school cafeteria 3 mornings this week. Since you have
an account, you haven't paid any attention to the individual prices of your items. Your
mom asked you how much each thing cost but all you could remember was what you
bought and the total that you spent. On Monday, you bought 2 scones and a juice for
$4.00, Tuesday you bought 2 juices and a scone for $3.50, and on Thursday you
bought 2 juices, 2 breakfast sandwiches and 2 scones for $9.00. How much does
each item cost?

Lot S= cavtdya Scme $L50
j:‘w/‘( odw/cgﬁ_l___o_é__

QS+ 3 =400 = 2
S+93 =3502P3
AS +a3 1B =9.cO

J =%
s+a(» =35 A D+AM) TR =
S=/.50 5+a:§:87?
28 =4

=2
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5.  Youlove to go to the movies; this month you went three times. The first time you
went, you bought a soda and popcorn and spent $18 including the price of the ticket.
The second time, you treated your best friend to his/her show and snacks, you each
got a soda and shared popcorn; including tickets you spent $30. The third time you
went you decided you'd eaten enough popcorn that month so just got a ticket and a
two sodas for $16. How much does each item cost?

Lot S= owt K adoda, %Y

= coet B o prpern *
.‘P—,W o tucleed £ B

S 4+ f FU =&  «X§+T=E
NS+ P + QAT =30 =23
QS + =

O y{ —36 St +T=I1§
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